Am\ ow\(emeu\s

QG‘% *bAﬁ\,\t
(1\WAT) pos\‘«\
Midkerm 3 Wed. “/10 1 CIG\SS

——

Recoll' A path 5 an alkerng} \ng SeqAence.
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Def : An Culerian podh [cirait wies eadh edge Qkalc“y oh(e

A Haowiltonion paXn/cir ol uses each Ver ey exactly once
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“\eorem :

& A conn. graph hos an Eulerian circuit

€ and only if all Aegrees are even

‘v\ A cohn. qvnp\/\ \\05. [N Ea\er.'m P&‘“\
¥ and 0'\\‘/ 1§ ¢2 degrees are odd

<) A weakly Cohh. biavaph hos an Enlerian dircu't

 and QY\\\/ ;(-' ()\Qo;(v\-:o\eg*(v) for all verdices v
0\\ A wm‘(\\, (ohh. *'\QW\P\'\ \\aus an E(A\Q’I'N’\ Pa%

€ and only if hes (v)=des (v) for all vertices v
QX(Q\'\ Lor a mosY Awo, one of which has

hey “(v) = deg' (v) 41, and Khe other of which
has deg (V) =deg*(v) -1

W‘\\'c\\ qmp\\s hove \'\Amip(oh;d\ P*U\S/(:('Cm",'s ¢
N\O\Y\y C\oM'QS o( gyo,phs 0\0 €.9. kn, Ch, \Vh, Qn

Bul in deneral the problem i Very hard (NP'CDMPHe'.)



